Economics for CED

Problem Set #4 Answers

1. and 3. Correct answers are provided as you answer the questions online. 2 had no questions and therefore no answers.

4. This question is from Prof. Stephen Marglin’s Social Analysis 72 class, problem set #2, question 2. 

Assume that Widgets, Inc. operates in a competitive market, as shown below in graphs for the entire market and the individual firm.
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(a) The supply curve in the left panel is the short-run market supply. We know this because long-run market supply will be infinitely elastic at the price that makes all firms’ economic profits equal to zero. (Remember that we are assuming that all firms in the market are identical, so all firms will have identical cost curves.) If there is a positive demand shift, prices will rise in the short-run as the existing firms in the market meet the new higher level of demand. But other (identical) firms, lured by this apparent profit possibility, will enter the market, thus expanding supply until the point where there are no more profits to be had—i.e. driving the price back down to where it started. As a result of this free entry and exit of identical firms, the long run market supply curve must be infinitely elastic at a price equal to the minimum ATC of all of the identical firms in the market.

(b) A firm’s short-run supply curve differs from its long-run supply curve most notably in its having a different lower boundary. The s-r supply curve is the portion of MC above AVC, whereas the l-r supply curve is the portion of MC above ATC. This reflects the fact that fixed costs are sunk in the short-run but not in the long run.

c) Now assume that the demand for Widget increases suddenly. Show below the short-run shift in demand in the market, and then show how this affects Widgets, Inc. in its individual firm decisions, labeling the cost curves based on the old and new market price. Label the new (short-run) equilibrium price and quantity, and then show any profits that Widgets, Inc. has, if any.
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When Demand increases Demand curve shifts outward, increasing the price from P1 to P2, and increasing market equilibrium output from Q1 to Q2. This increase in price induces Widgets, Inc., to expand output from q1 to q2. Its profit is given by the rectangle whose height is (P2 – (ATC at q2)) and whose length is q2. (I apologize for the rectangle’s being slightly off in the picture above—Microsoft Word’s drawing function is to blame). In this case Widgets, Inc., has positive short-run profits.

d) Now graph the long-run effects on the market and on Widget, Inc.’s production. Show below the long-run shift in demand in the market, and then show how this affects Widgets, Inc. in its individual firm decisions, labeling the cost curves based on the old and new market price. Label the new (long-run) equilibrium price and quantity, and then show any profits that Widgets, Inc. has, if any.
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In the long-run, other Widget makers are lured into the market by the promise of profit. This shifts the market supply curve outward until the point where price has returned to P1. The influx of producers stops when P = P1 because this is exactly the minimum average cost of all Widget producers in this market (remember, we are assuming uniformity of firms), and, thus, the price which drives profits to zero.

Widgets, Inc., finds itself back where it started. Market price is P1, so it goes back to producing at q1. Its profits have disappeared. 

